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1. Ifthe correlation coefficient between X and ¥ is equal to 1, then
. (A TFAX |
(B) Covariance between X and Y is equal 0
(C) Covariance between X and Y is equal 1

(D) Covariance between X and Y can be any real number
(E) None of the above

2. Let'l’l and I3 have the joint p.mm.d.
SV 12) =3y, 0= y, < y, <1, zero elsewhere, Find the following value:

(1) E(h)=

(A)042 (B)0.25 (C) 0.5 (D) 0.128 (B) 0.75
)E(N-Y2)=

(A) 0.5 (B)0.375 (©)0.125 (D)025 (E)0.75
(3)Cov(hh, I3)=

(A)0.02 (B)-0.16 (€)0.16 (D)-0.02 (E)O0.08

3. Consider the following data: 5, 7, 4, 5, 22, 6, 12,9, 5,6. The mcdlan is

(A)S5 (B) 8.1 (©)6 (D) 6.5 (E)5.5

4. Which of the following statements is correct regarding the percentile points of the F-di‘stnbutmn?
(A) Fo.10,8,15=1/Fo 90,38 15

(B) Fogo, s, 15=1/Fo10, 15,3
(C) Foz0,3,15=tFo 10,15, 3

(D) Foso, s, 15=1/Fo90,15,3
(E) None of the above

5. IfP(4)=0.5, P(B | 4)=0.35, P(4 LUB)=0.72, then P(B)=
(A) 0.52 B)035 (C)0.18 (D)0.04  (E) None of the above
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7. Which of the following sampling distributions in needed for the matched pair comparison for means?
(A) the chi-square distribution '
(B) the binomial distribution
(C) the standard normal distribution
(D) the ¢ distribution
(B) the F distribution

8. A population has a mean of 195 and a standard deviation of 30. A sample of 100 observations will be
' taken. The probability that the mean from that sample will be between 198 and 201 is
(A) 0.4772 (B) 0.3413 (C)0.0228 (D)0.1587 (E)0.1359
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9. The variation of a distribution can be measured by
(A)mean  (B)median (C)range (D) variance  (E) standard deviation
10. Let X have a Bernoulli distribution with P=0.4 and Y have a Poisson distribution with mean=3. Let X'and
Y are independent, Then
(A) E(X+Y)=3.4
(B) £(10X-Y)=1
(C) Var(¥)=9
D) Var(P-Xy=2.76
(E) Cov(X, Y)=0

11. Select correct items about testing Hot y=up versus Hy; u#1 for a normal population me_ar; A ata level of
significance:

(A) Reject Hy if the 100(1-a)% confidence interval for # does not include ;.
(B) Pr(Critical region | H, }=a

(C) Pr(critical region | H;)=Pr(Type II error)

(D) Pr(accept Hy | H;)=the power

(E) Pr(reject H, | Ho)=p-value

t

12. Which are not the nominal variables among the following demographic variables?
(A)ages  (B) living areas (C)sexes  (D)heights  (B) occupations
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(1) (ERE7KHE @=0.05 F » B =38 a8 mE R E RS IBR S22
2 ? (10%)

(2) 3 C EEMMASITEER 1 ¢ Z 95%HI{ETERA - (10%)

(3) X B EfIR A BRI EEE - a2 9S%RHEHEER] - (10%)

(F (0.95;2,12) = 3.89; F (0.975,2,12) = 5.10; F (0.95;2, 15y = 3.68; F (0.975:2, 15) = 4.77;

(t 095, 12)=1.782; t 095,15 = 1.753; t (0,975, 12)=2.179; t 0975, 15)= 2.131)
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